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B/ \BE B8R 39|37 76 |60 | 700

2 |KE #®— 41 |40 81 [100 (710

3 |G EE 35|35 70 [+10 (710

4 |EX 8sh 40 | 39 79 170 720

5 |tk =8B 39 |46 85 [110 (740

6 |WEE 1R 38|45 83 |90 740

7B M 41142 83 |90 740

8 | K& B 41 |44 85 |90 | 760

O P& =M 40 | 48 88 [120 | 760

10 |88 = 46 | 41 87 [110 | 760

11 |[RA — 43|43 86 [100 | 760

12 |l 37|45 82 |50 (770

13 |58 BE 38|44 82 50 770

14 |88 == 43 | 44 87 90 | 780

15 |ER 28X 41 |44 85 | 70 | 780

16 [R5 =Rl 41 |42 83 |40 | 790

17 |28 7=&E 39 |46 85 |60 790

18 | KIF &% 44 | 46 90 (110|790

19 WA IEfE 43 | 46 89 [100 | 790

20 | AN H 44 | 39 83 |40 | 790

21 |WiF BeB 47 |44 91 120|790

22 |& B8 45 | 40 85 | 50 800

23 |MR  IEE 43 |47 90 [100 800

24 WA R— 41 |47 88 | 70 810

25 |IA @ 46 |47 93 [120 (810
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26 ;@ F 44 | 46 90 |90 (810

27 |88 E 49 | 43 92 [100 (820

28 W B=E 40 |47 87 150 820

29 |BR {888 47|48 95 [120 (830

30 |[HF #FX 49 | 46 95 [120 830

31 |hE Bk 48 | 45 93 [100 (830

32 |kE BE 50 |45 95 [120 830

33 |& Bl 44 | 45 89 |50 (840

34 |HR BX 46 | 45 91 150 860

35 | Kb 2 44 | 48 92 |60 860

36 |8  LbEX 48 | 49 97 |100 (870

37 | BE 44 | 54 98 [110 (870

CISHESSS I 48 | 51 99 (120 (870

39 6% #C 51|44 95 |80 870

40 |B8H 8= 44 153 97 |100 870

41 | BiE 52 |47 99 (120 (870

42 |88 = 43 | 51 94 160 880

43 |hE BE 5147 98 [100 880

44 |5 B’ 48 | 46 94 160 880

45 |Ik¥t 18X 53 | 50 103|120 |91.0

46 |BF #X 46 | 54 100| 80 |920

A7 | PR FORK 52|52 104|100 |94.0

48 |i2M 181% 54 | 54 108|11.0 970
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B\ 2B F01F 47|44 91 170|740

2 &M i 42|45 87 130|740

3 & &= 45| 45 90 [16.0|740

4 WX 55 47143 90 |16.0|740

S | = 43 | 47 90 [140|760

6 |88 = 48 | 47 95 180|770

7B =17 45 | 46 91 140|770

8 |[fak B3% 49 | 42 91 130|780

O |UT K3k 51|46 97 180|790

10 g 47 | 51 98 180|800

11 R 1B 48 | 46 94 1130|810

12 880 = 46 | 53 99 180|810

13 |ax  IE 54 | 43 97 150|820

14 |T17%% =l S0 | 47 97 150|820

15 |88 54 | 46 100|180 820

16 B8 &R— 52|48 100|170 830

17|88 = 51150 101|180 830

18 |26 BE 49 | 55 104 1130 (910
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B |58 BT 46| 43 89 270 |620

2 |WE 2= 53|47 100 360 [64.0

3 |#E¥F [EX 49 |48 97 |290 |680

4 |£E% R 45|44 89 200 |69.0

5 |WIE B 50 | 41 91 |[190 | 720

6 |BlF S 46 | 52 98 250|730

7 |ES BE% 49 | 45 94 200 | 740

8 |HFh IBEX 45 | 48 93 |190 | 740

O |EE #03A 49 | 46 95 |200 | 750

10 |#BEe B 53|45 98 230|750

11 |80 L& 53|43 96 |200 | 760

12 |lWUB #5813 49 | 48 97 |200 | 770

13 |#afg IESR 48 | 55 103 (250 | 780

14 |ikF 47|53 100210 (790

15 |KE &8 63 |48 111300 (810

16 |8 = 54 | 52 106 (240 (820

17 PUH IEfB 52 | 52 104 {190 (850

18 |LWB &F& 60 |47 107 ({190 (880

10 |8 —= 57|59 116 (280 (880

20 |MHZx #F 58 | 59 117190 (980
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